
ETKA

Model

A8Q

Year

2005

03.09.2014MG

Pos Part Number Description Qty Model

Page: 001

0

SG

35

Illustration

035-035

Restrictions UPD

1032

 7:06

Remark

EPIS 291

loudspeaker
dashboard

   1   4E0 035 411 B treble speaker left a. right 2 PR-9VD

  (1)   4E0 035 411 Q treble speaker center

left a. right

3 PR-8RY

  (1)   4E0 035 361 treble speaker

dashboard
for vehicles with high end

loudspeaker system

left 1 PR-8RF

  (1)   4E0 035 362 treble speaker

dashboard

for vehicles with high end
loudspeaker system

right 1 PR-8RF

  (1)   4E0 035 397 treble speaker

dashboard
for vehicles with high end

loudspeaker system

center 1 PR-8RF

   2   N   905 266 02 speed nut M4X13,6X15 X

   3   N   904 552 06 hexagon socket flat
head bolt

M4X10 X

loudspeaker
doors

front

   5   4E0 035 411 mid-range bass speaker left a. right 2 PR-9VD

  (5)   4E0 035 411 M mid-range bass speaker left a. right 2 PR-8RY

  (5)   4E0 035 381 mid-range bass speaker

for vehicles with high end

loudspeaker system

left front 1 PR-8RF

  (5)   4E0 035 382 mid-range bass speaker

for vehicles with high end
loudspeaker system

right front 1 PR-8RF

   -   4E4 035 434 distance piece

for special armoured vehicle

left a. right 2

   6   N   909 578 02 oval hexagon socket head bolt M5X16 6

loudspeaker

doors

rear

   8   4E0 035 411 D mid-range bass speaker left a. right 2 PR-9VD

  (8)   4E0 035 415 mid-range bass speaker left a. right 2 PR-8RY

  (8)   4E0 035 381 A mid-range bass speaker

for vehicles with high end
loudspeaker system

left rear 1 PR-8RF

et_text.frm



ETKA

Model

A8Q

Year

2005

03.09.2014MG

Pos Part Number Description Qty Model

Page: 002

0

SG

35

Illustration

035-035

Restrictions UPD

1032

 7:06

Remark

EPIS 291

  (8)   4E0 035 382 A mid-range bass speaker
for vehicles with high end

loudspeaker system

right rear 1 PR-8RF

   9   8E0 035 399 A treble speaker left a. right 2

  (9)   4E0 035 399 A treble speaker
for vehicles with high end

loudspeaker system

left a. right 2 PR-8RF

  10   N   909 578 02 oval hexagon socket head bolt M5X16 8

loudspeaker
rear shelf panel

  12   4E0 035 412 loudspeaker 1 PR-9VD

 (12)   4E0 035 412 D loudspeaker 1 PR-8RY

 (12)   4E0 035 621 A loudspeaker
rear shelf panel

for vehicles with high end

loudspeaker system

1 PR-8RF

  13   4E0 035 411 P loudspeakers (surround) 2 PR-8RY

 (13)   4E0 035 401 loudspeakers (surround)

for vehicles with high end

loudspeaker system

2 PR-8RF

  14   N   905 006 05 socket head bolt with

inner multipoint head

M6X22 4

  15   443 819 055 B clip nut 4

amplifier for sound system

  17 amplifier with software
             see illustration: 035-40

(17A)   4E0 910 465 B amplifier with software
for vehicles with high end

loudspeaker system

additional reinforcement

                     hardware: 4E0 035 465

1 PR-8RF

  18   N   100 534 04 socket head bolt with

hexagon socket head

M4X12 2 PR-9VD

 (18)   N   015 082 13 hexagon collar nut M6 4 PR-8RY

  18A   N   015 082 13 hexagon collar nut M6 5

  18B   N   100 173 04 hexagon collar nut M5 6

  19 carrier plate

             see illustration: 035-40

et_text.frm



ETKA

Model

A8Q

Year

2005

03.09.2014MG

Pos Part Number Description Qty Model

Page: 003

0

SG

35

Illustration

035-035

Restrictions UPD

1032

 7:06

Remark

EPIS 291

  20   4E0 035 644 carrier plate
for vehicles with high end

loudspeaker system

left rear 1 PR-8RF

  20A   4E0 035 643 carrier plate

for vehicles with high end

loudspeaker system

left rear 1 PR-8RF

hands-free/emerg. loudspeaker

  21   4E0 035 411 F hands-free/emerg. loudspeaker 1

  08/02-10/07E59 light platinum (grey) -LF,LU

  08/02-10/074PK soul (black) -LA,LR

  08/02-10/076G6 indigo blue -LS,LT

  08/02-10/078X5 torrone (beige) -LV,LW

flat contact housing

  23   8D0 972 623 AA flat contact housing with
contact locking mechanism

treble speaker

2 pin

front

2 PR-9VD

 (23)   1J0 973 119 flat contact housing with

contact locking mechanism

treble speaker

2 pin

front

3 PR-8RY

 (23)   8D0 972 623 AA flat contact housing with

contact locking mechanism
treble speaker

2 pin

rear

2

  24   4B0 971 942 flat contact housing with
contact locking mechanism

mid-range bass speaker

2 pin
front and rear

4

 (24)   4B0 971 942 flat contact housing with

contact locking mechanism

loudspeaker
rear shelf panel

2 pin 1 PR-9VD,8RF

 (24)   1J0 972 706 flat contact housing

loudspeaker
rear shelf panel

6 pin 1 PR-8RY

  25   1J0 971 972 flat connector housing
rear shelf panel

2 pin 2

  26   1J0 962 623 A flat contact housing with
contact locking mechanism

amplifiers

23 pin
blue

1 PR-9VD

 (26)   4E0 971 636 flat contact housing with

cap

32 pin

black

1 PR-8RY

  27   7M0 035 727 flat contact housing

amplifiers

18 pin 1 PR-8RY

et_text.frm



ETKA

Model

A8Q

Year

2005

03.09.2014MG

Pos Part Number Description Qty Model

Page: 004

0

SG

35

Illustration

035-035

Restrictions UPD

1032

 7:06

Remark

EPIS 291

  28   4E0 973 702 flat connector
fibre optic wave conductor

2 pin
black

1

  29   4B0 971 992 flat connector housing
hands-free/emerg. loudspeaker

2 pin 1

et_text.frm


